IF#/RES: 300003 WEF TR SR EIT NEGS . 2024-109

FE LR BramihraRA T
RKTF 5% LA EBARIFA T RAT R BIFT A #]e A
AfiF (EH) BEMERABRNRSEAS

ATIRAEFEMBE TEAA RS- LRI GREMEAEET ) 37
EFAAFRMEREENFEE. B8, B8, BFBRBRER. REUEHFERE
KB .

FAT) REFSERRRREA S WA 5E BWEXFAREEE 2.

HEARERR:
“24 M4 EB” TRAEERT I NS 21.67 Ju/k
“24 Wit EB” TR SS RN AS: 21.53 Ju/ik
“24 A EB” AR AN A% R A S 1 1. 2024 £ 9 H 20 H

R (bR BEIT SR AR AR (IR “AR" BARH E AR
THEHAAF S L HHRHT GEBIMAM R F T (LUREIRR “L=HF™ F
2024 £ 1 H 8 HAEATFRAT T Al 58 AR 5% (LR R “ AW Z” 50 “24
it EB™), 5 WIMR 3 4F, Hla T2 B b 5 A R A RIS

AFET 2024 459 A 9 HAF T 2024 F5— I B A K2, HBGERE T
2024 FEAAEFERZA IR S, PURAELE 2024 429 A 19 H (RUURLE /3 IR AL
Bt HD N RYINESRAE & Bt 5 76 v BNE 7 S 10 85 5 A IR 2 vl Yo 2 7] &
WEMB AR AR AR CRE L P A D B BRI R IR
0.142 7t (FHED.

AFEMCEI L AT, HRAE CPESNE TEBA RS L AR G&
FHASRERT BRI 7R ) 2024 4F 1 18] T b 4% B8 HE A TF AT RHL G vl A8 e 2 7] 5
77 CGE—WD FEUPHY, HAnBERIRERERA . A, Ik, Ik
TR I I S5 155 DU B SR R A AR A, 42 T IR 2 SR AT # S s 1 R 22

YRIE L SR sl e A . P1=P0O/(1+n);



B P1=(PO+AxXK)/(1+k);

IR E AT P1=(PO+AXK)/(1+n+k);

IRIEIMEMA: P1=P0-D;

Bk =R E AT P1=(PO—D+AXK)/(1+n+k).

Horb: PO WA H R, n i B sl W e A e, kO, A AT
D AEMIRIEREF], P1 ARG H AN .

RIE EIRZ)5E, “24 ikt EB” [ ieiid& B 2024 45 9 F 20 Hitgh 21.67
JUI %R 21.53 Ju/E

AU AN RE JT , e H T A8 BB R B A D T AR B AT S e
53 25 2 S BT e R

BEARNEHEH,“24 ik EB 2 REUN 2 1270, BT Rit#s 1,840
J3 2w i 52 e L2 B A g I A S o 4 4R AR

BEANGWMAED, T OAMAAES QAR R & . B0
Tt T A2 4 BB 2 B A 5 93 € A HE AR A, AN AE BR S BOBUM 3 55 5
M 45 5% 3 BB A S 30T A 35 23 B 6 e AN i S -6 — Tu P AR IRIE 23 528 5 i
ETHAR] R A R T B DRI AR IR E

It

5>
S

R (bR EIT SR A IR A A
HHE
— O EHA —+TH



